19. What are all values of x for which J-_I]d.r 15 equal to 07
j 4

(A} -2 only (B} 0 only (C) 2 only (D)) -2 and 2 only (E) -2, 0,and 2

20. Let & be the function defined by h{x) = rﬂsin:.‘ dt. Which of the following is an equation for the line tangent
8

to the graph of h at the point where x = % ?

(A) y= %

(B y=+2x

(C) y= t—%

(D) ¥ =—(r—%j
(E) y= %ll —%J

22. A particle moves along the x-axis so that at time t = 0, the acceleration of the particle is a(r) = 15vf. The
position of the particle is 10 when t = 0, and the position of the particle is 20 when ¢ = 1. What is the velocity
of the particle at time t = 07

(A) —14 (B) 0 (&) (D) 6 (E) 10

'{

24. Sand is deposited into a pile with a circular base. The volume V of the pile is given by V = % where r is the

radius of the base, in feet. The circumference of the base is increasing at a constant rate of 57 feet per hour.
When the circumference of the base is 81 feet, what is the rate of change of the volume of the pile. in cubic feet
per hour?

(A) % (B) 16 (C) 40 (D) 407 (E) 80rx

25, lim&E——¢ s

(A) -1 (B) ‘?] ©) 0 (D) % () sionaistent



26. Let f be the function given by fi(x) = x* + 5x. For what value of x in the closed interval [1.3] does the
instantaneous rate of change of f equal the average rate of change of [ on that interval?

(A) ; (B) % (C) 5 (D) V6 (E) E
'r."‘l — 12 — sl - — L 1= ﬁ —_
27.1f e y =e —l.[henat_l—zﬂnd}-g.dx#
€ € 4e 4e 8 —4e
(A) 1 (B) 3 (C) e (D) i (E)
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Graph of f

11. The graph of the function f is shown in the figure above. Which of the following could be the graph of [, the
derivative of 7
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